
����� 4 
���������	

 
����������	
��
�������
 �������������	
��
������������������� (TE = 10 �����������)

�� ����������� (TE = 13 �����������) �����������!"��#�����$#���%&'(��� )�'��� ���� ��� 
������"���������*�������&� 7 � 
�� �+� 0.37, 0.83, 0.85, 0.90, 1.00, 1.22, 1.25, 1.30 

ppm 
����)��� 6 ��
������'�'"��,������)���%��)��������������	
��
�������
 ����������
���	
��
��� ������
,�$�&�� 
���"�����-�"���#�����,��������"��������� (ppm) ����'�'"�����
�+� ����������	
��
��� � ����������'��������)���%��)�������'�$��'" ������"�����������
� 
������-�"���#��������� 
�� 0.83 ppm �'"����������	
��
�������
 � ����������'�������
�)���%��)���������+��������"������������ 
������-�"���#��������� 
�� 1.00 ppm 

��� 
ppm

������	
����
�	 ������	��� 
���������� 10

�����������
������	��� 
���������� 13

�����������
0.37

0.83

0.85
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0.90

1.00

1.22

1.25

1.30

�

������ 6 �����'�'"��� ��"������������	
��
�������
 �� ����������	
��
���� ����������� 10

�� 13 ������������.������"��������#�����,��������"���������'�$��'" 0.37 ppm *�� 1.30 ppm�
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4.1 �	
���

��������������������� �������������������!������"����	#
�	�
 (ppm) 
����� 
T2* �����$�$%&�
�'��&��	���&	 
���
�
�����
� ���
���������������������������������� 7 

��$�� 
  �"� T2* ,���!"��#�������
����
�&�'������� 5 ��  8 �)/��"��0���%���-
(��������!�
�!"��#���������� ��+��&�(�!�1�����,(�,(�,������	���-���� (Fe3+) -
(������2������
������"������������+������
%-�",�$����'#����"�����%�" �
%��!�����'#����"���$���
 7 ���$� 
'������� 5 ��
��"�����-�"���#�����,��������"��������� (ppm) �� �"� T2* �0���% �������
�,(�,(�,������	���-���� (Fe3+) ��"���� 0.2, 0.4, 0.6, 0.8, 1.0, 1.4, 1.7 ��  2.0 ���������'"�
����,���$#������)3%� ��%&'(��� )�'��� ��� ���������"������������*������� 7 � 
���+� 
0.37, 0.83, 0.85, 0.90, 1.00, 1.22, 1.25, 1.30 ppm   

(������� 5� ��
��"�����-�"���#�����,��������"��������� (ppm) �� �"��0���%,���"� T2* &�
�'"� �����,(�,(���������!���$���
 ��%&'(��� )�'� �� ��� ���������"��������� *��
����� 7 � 
����

�
�
�
�
�
�
�

�"�����-�"
���#�����
,��
������"��
������� 
(ppm) 

�"��0���%,���"� T2* (�����������) �����
�������	���-���� (Fe3+) � 
��'"��1

0.2 mg/g 0.4 mg/g 0.6 mg/g 0.8 mg/g 1.0 mg/g 1.4 mg/g 1.7 mg/g 2.0 mg/g

0.37 50.74 45.70 31.41 27.83 20.32 13.20 10.52 10.21 

0.83 48.35 44.16 31.06 28.09 20.40 13.12 10.55 10.10 

0.85 48.68 43.66 30.40 27.83 20.30 13.11 10.51 10.04 

0.90 48.32 43.20 30.89 28.04 20.28 13.08 10.48 10.13 

1.00 46.31 42.08 29.22 27.17 20.18 13.11 10.53 10.11 

1.22 45.75 41.88 28.90 26.91 19.73 13.09 10.52 10.09 

1.25 45.07 44.68 29.24 25.92 18.62 12.65 10.38 10.11 

1.30 43.88 43.88 27.80 25.04 19.34 12.17 9.53 9.99 
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��+���#��"� T2* �0���%�����
-
(����������,(������%&'(��� )�'� �����������"�����������
����-�"���#�������"���� 0.37 ppm ���4'������������,(�,(�,������	���-���� (Fe3+) 
(�%
���������)����
�%� 
����)��� 7 �
%���"� (R-square = 0.9806) -
(5��"� T2*� �0���%� ���"����
��+��� 
�������,(�,(�,������	���-���� (Fe3+) '�#� �� �"� T2*� �0���%� �
���������)���
�
�%� ��+��� 
�������,(�,(�,������	���-���� (Fe3+) �����,�$� �
�
�

     

������ 7 ��
�����
��,���"� T2* �0���%�������)����
�%� ��+���4'������������,(�,(�,��
����	���-���� (Fe3+) ����������,(������%&'(��� )�'� �����������"�����������-�"���#����� 
��"���� 0.37 ppm �
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��+���#��"� R2* ��+��"� 1/T2*�,���"� T2* �0���%�����
-
(����������,(������%&'(��� )�'� 
��+�������"���������������-�"���#�������"���� 0.37 ppm ���4'������������,(�,(�,��
����	���-���� (Fe3+) 
(�%�������(�'�� (Linear model) 
����)��� 8 ���"� ���
����)���%��)��
,���"� R2* ��+��"� 1/T2*�,���"� T2*��0���%�����,�$�����)/���(�'�� (R-square = 0.9728) �
%
�"� R2* ��+��"� 1/T2*�� �)�'��� 
�������,(�,(�,������	���-���� (Fe3+) �

�

������ 8   ��
���������,�$�,���"� R2* ��+��"� 1/T2*� ����)/���(�'�� ��+���4'�����������
�,(�,(�,������	���-���� (Fe3+) ����������,(������%&'(���  )�'���+�������"�����������
����-�"���#�������"���� 0.37 ppm�
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5����6��7�5�,�� �"�����-�"���#�����,��������"��������� (ppm) �� � 
������
�,(�,(�,������	���-���� (Fe3+) �����'"��"� T2* �0���% 
(�%��������� �	�"������)�)������
������ (Two-Way ANOVA) ���"� �"���$���� ��5�'"��"� T2* �'�'"������%"������%�#���8���
�*�'����� 
�������
+������ 95 �)��	�.��'	 (P = 0.000) 
��'������� 6 ��
�5���������� �	����
�)�)������������ ��+��6��7�5�,�� �"�����-�"���#�����,��������"��������� (ppm) 

�� � 
�������,(�,(�,������	���-���� (Fe3+) �����'"��"� T2* �0���%��
�
�

(������� 6 ��
�5���������� �	�����)�)������������ ��+��6��7�5�,�� �"�����-�"
���#�����,��������"��������� (ppm) �� � 
�������,(�,(�,������	���-���� (Fe3+) �����
5�'"��"� T2* �0���% �

Adjusted R Squared = .996 �

������ 
���"� ,���������'��	���'�������������#�����,��������"��������� ���
��
 �"�� ��5��� ��'"��"� T2* �����
-
( �#������������%��$ �
%��2��4
�
��	 (Fisher’s least 

significant difference: LSD) ���"� ��!"�,���"� ppm ����#�&�(���
�����'�'"��,���"��0���%��%
��" ,���"� T2* �0���% �+� ��!"� 0.37-0.90 ppm �� ��!"� 1.00-1.30 ppm 
����
�&�'������� 7 .���
��
�5�����
����"��0���% T2* �)/���%��" ���5���������� �	
����"����
��"���+��������"�����
����*�������
(�%�"�-�"���� 0.90 ppm �������(��"�� %��-�"�"�5�'"�����)���%��)���"� T2*

���������������������������� 
�������
+������ 95 �)��	�.��'	 (P = 0.100) 

Source of variation Sum of squares d.f. Mean squares F-ratio P-value

Main effects 
ppm value 32.171 7 4.596 5.633 0.000 
Concentration  Fe3+ 11803.534 7 1686.219 2.067E3 0.000 
Error 39.976 49 .816 
Total(corrected) 52332.45 64 
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(������� 7���
�5�����
����"��0���%�)/���%��" �
%��2��4
�
��	 ,���"� T2* &���!"�,������-�"
���#�����,��������"��������� (ppm) ��$� 8 ��!"�

������� �����������!������
���"�#�"��� (ppm) 

P-value

0.37 0.83 0.85 0.90 1.00 1.22 1.25 1.30 

�"�����
-�"
���#�����
,��
������" 
�����
���� 
(ppm) 

0.37  .141 .262 .160 .003 .001 .001 .000 
0.83 .141  .720 .945 .144 .039 .035 .001 
0.85 .262 .720  .772 .504 .017 .015 .000 
0.90 .160 .945 .772  .100 .033 .030 .011 
1.00 .003 .114 .054 .100  .613 .578 .057 
1.22 .001 .039 .017 .033 .613  .960 .157 
1.25 .001 .035 .015 .030 .578 .960  .172 
1.30 .000 .001 .000 .001 .057 .152 .172 

95% Confidence Interval
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5�����)���%��)��,���"�  T2* �'"� �����,(�,(�  ��%&'(��� )�'��� ��� ���
������"���������*����������)9���%��%��� (macroscopic) '�$��'"�"� 0.37 ppm *�� 1.30

ppm ���"����
����)���%��)��,���"� T2* &��'"� 
"���'�'"����� �� ���"���+�������,(�,(�
,������	���-���� (Fe3+) (microscopic) ���,�$� 5������������������"��������������'"�
����)���%��)��,���"� T2* �������(��
�� 
����)��� 9
 

������ 9 ����)���%��)��,���"� T2* �'"� �����,(�,(� ��%&'(��� )�'��� ��� ���������"�����
����*����������)9���%��%���&�� 
��'"��1 
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4.2 �	
���

������������������������������)#�(����������������*�� (PIU) 
����� T2* ���
��$�$%&�
�'��&��	���&	 *�+,(%*����
(- "	�*��������
����
������"����	#
�	�
,� 7 ��$�� 
 
5������
�"��)��	�.��'	�������#���������� (PIU) �� �"� T2* �0���%,���!"��#����������������
�,(�,(�,������	���-���� (Fe3+) ��"���� 0.2, 0.4, 0.6, 0.8, 1.0, 1.4, 1.7 ��  2.0 ���������'"�
����,���$#������)3%� ��%&'(��� )�'� �� ��� ���������"������������*������� 7 � 
���+� 
0.37, 0.83, 0.85, 0.90, 1.00, 1.22, 1.25, 1.30 ppm -
(5�
����
�&�'������� 8

(������� 8���
��"��)��	�.��'	�������#���������� (PIU) �� �"� T2* �0���%&��'"� �������
�����!���$���
 ��%&'(��� )�'� �� ��� ���������"������������*�� ����� 7 � 
���

�"��)��	�.��'	
����
���#�������
��� (PIU) 

�"��0���%,���"� T2* (�����������) �����
�������	���-���� (Fe3+) � 
��'"��1
0.2 mg/g 0.4   mg/g 0.6 mg/g 0.8 mg/g 1.0 mg/g 1.4   mg/g 1.7 mg/g 2.0 mg/g

97.40 50.74 45.70 31.41 27.83 20.32 13.20 10.52 10.21 

96.49 48.35 44.16 31.06 28.09 20.40 13.12 10.55 10.10 

96.79 48.68 43.66 30.40 27.83 20.30 13.11 10.51 10.04 

96.42 48.32 43.20 30.89 28.04 20.28 13.08 10.48 10.13 

89.05 46.31 42.08 29.22 27.17 20.18 13.11 10.53 10.11 

86.07 45.75 41.88 28.90 26.91 19.73 13.09 10.52 10.09 

78.70 45.07 44.68 29.24 25.92 18.62 12.65 10.38 10.11 

55.31 43.88 43.88 27.80 25.04 19.34 12.17 9.53 9.99 

�
5����6��7�5�,�� �"��)��	�.��'	�������#���������� �� � 
�������,(�,(�,������	

���-���� (Fe3+) �����5�'"��"� T2* �0���% 
(�%��������� �	�"������)�)������������ (Two-

Way ANOVA) ���"� �"���$���� ��5�'"��"� T2* �'�'"������%"������%�#���8����*�'����� 
��
�����
+������ 95 �)��	�.��'	 (P = 0.000) 
��'������� 9 ��
�5���������� �	�����)�)������
������ ��+��6��7�5�,�� �"��)��	�.��'	�������#���������� (PIU) �� � 
�������,(�,(�,��
����	���-���� (Fe3+) �����'"��"� T2* �0���%���
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(������� 9� ��
�5���������� �	�����)�)������������ ��+��6��7�5�,���"��)��	�.��'	 
�������#���������� (PIU) �� � 
�������,(�,(�,������	���-���� (Fe3+) �����'"��"� T2*�

�0���%�

Adjusted R Squared = .996 

������ 
���"� ,���������'��	���'�������������#�����,����� �����
�"�� �"�5� 
�� ��'"��"� T2* �����
-
( �#������������%��$ �
%��2��4
�
��	 (Fisher’s least significant 

difference : LSD) ���"� ��!"�,���"� PIU ����#�&�(���
�����'�'"��,���"��0���%��%��" ,���"� 
T2* �0���% �+� ��!"� PIU = 55.31 �)��	�.��'	 *�� 89.05 �)��	�.��'	 �� ��!"� PIU = 96.42 

�)��	�.��'	 *�� 97.40 �)��	�.��'	 
����
�&�'������� 10 .�����
�5�����
����"��0���% T2* �)/�
��%��" ���5���������� �	
����"����
��"� ��+������������	���"��)��	�.��'	�������#���������� 
'�$��'" 89.05 �)��	�.��'	 ,�$�-)�������(��"�� -�"�"�5��� ��'"�����)���%��)���"� T2* �������
��������������������$%	�&������'������ 95 �)��	�.��'	 (P = 0.100) 

(������� 10� ��
�5�����
����"��0���%�)/���%��" �
%��2��4
�
��	 ,���"� T2* &���!"�,������
-�"���#���������� (PIU) ��$� 8 ��!"� �

�
�"��)��	�.��'	�������#���������� (PIU)

P-value

55.31 78.70 86.07 89.05 96.42 96.49 96.79 97.40

�"�
�)��	�.��'	
����
���#�����
����� 
(PIU) 

97.40  .172 .157 .057 .001 .001 .000 .000 
96.79 .172  .960 .578 .030 .035 .015 .001 
96.49 .157 .960  .613 .033 .039 .017 .001 
96.42 .057 .578 .613  .100 .114 .054 .003 
89.05 .001 .030 .033 .100  .945 .772 .160 
86.07 .001 .035 .039 .114 .945  .720 .141 
78.70 .000 .015 .017 .054 .772 .720  .262 
55.31 .000 .001 .001 .003 .016 .141 .262 

95% Confidence Interval 

Source of 
variation 

Sum of 
squares

d.f. Mean squares F-ratio P-value

Main effects 
PIU value 32.171 7 4.596 5.633 0.000 
Concentration Fe3+ 11803.534 7 1686.219 2.067E3 0.000 
Error 39.976 49 
Total(corrected) 52332.45 64 



31

5�����)���%��)��,���"� T2* �'"� �����,(�,(� ��%&'(� 
���"��)��	�.��'	����-�"
���#���������� (PIU) '�$��'"�"� PIU = 55.31 �)��	�.��'	 *�� PIU = 97.40 �)��	�.��'	 ���"�
���
����)���%��)��,���"� T2* &��'"� 
"���'�'"����� �� ���"���+�������,(�,(�,������	���
-���� (Fe3+) ���,�$� 5��������)���%��)��,���"��)��	�.��'	����-�"���#���������� �����'"� 
��� �)���%��)��,���"� T2* �������(��
�� 
����)��� 10

������ 10 ����)���%��)��,���"� T2* �'"� �����,(�,(� ��%&'(� 
���"��)��	�.��'	����-�"
���#����� ����� (PIU) � 
��'"��1 
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��+�������:��"��0���% (Mean) �� �"��)��	�.��'	���)� ���2�;�����)�)��� (Percent

coefficient of variation, %CV) ,���"� T2* �0���%�����
-
(&��'"� �����,(�,(���%&'(��� ���
������"�����*�������'"����� � ���"� �"� T2* �0���%� ���"������+����
���� 
�������,(�,(�
,������	���-���� (Fe3+) '�#� �� �"��0���%� �
����+��� 
�������,(�,(�,������	���-����
(Fe3+) �����,�$� .������"��0���%��"���� 47.18, 43.66, 29.87, 27.11, 19.90, 12.94, 10.38 ��  
10.10 '���#�
�� �� ���"��"��)��	�.��'	���)� ���2�;�����)�)���� ���"������+����
�"� T2*

���� 
�������,(�,(�,������	���-���� (Fe3+) '�#� �� �"��)��	�.��'	���)� ���2�;���� 
�)�)��� � �� �����(��
����+��� 
�������,(�,(�,������	���-���� (Fe3+) �����,�$� .������"�
��"���� 4.85, 3.15, 4.22, 4.08, 3.17, 2.71, 3.34 ��  0.62 
��'������� 11  

(������� 11 ��
��"��0���% (Mean) �� �"��)��	�.��'	���)� ���2�;�����)�)��� (Percent 

coefficient of variation, %CV) ,���"� T2* �0���%�����
-
(&��'"� �����,(�,(���%&'(��� ���
������"�����*�������'"�����

Ferric iron concentration 
( mg/g wet weight) Mean %CV 

0.2  47.18 4.85 
0.4  43.66 3.15 
0.6  29.87 4.22 
0.8 27.11 4.08 
1.0  19.90 3.17 
1.4  12.94 2.71 
1.7  10.38 3.34 
2.0  10.10 0.62 
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5�����#��"��)��	�.��'	�������#���������� (PIU) ����<�'��������"�����-�"
���#����� ,��������"��������� (ppm) ��+���"���$�������'#����"��
�%����-
(������'���������
��� �
�%���� 
����)��� 11 ���"� �"���$�����������(�����)���%��)�������
��(������+� ����
���#�����������������	� ��� (PIU ���) ��+��������"������������������#�������� (ppm '�#�)
�� �������#����������� �
��&�,: ���������"������������������#������
���
"����  
��  ���"�� 
���"��)��	�.��'	�������#���������� (PIU) ��������"���+���"���� 89.05

�)��	�.��'	 ��+��"�����-�"���#�����,��������"��������� (ppm) ����(�%��"���+���"���� 0.90 ��
�����(�� -�"�"�5�'"��"� T2* �����
-
( 

 

������ 11 ����#��"��)��	�.��'	�������#���������� (PIU) ����<�'��������"�����-�"���#����� 
,��������"��������� (ppm) ��+���"���$�������'#����"��
�%����-
(������'������������ 
�
�%���� 
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4.3 �	
���

��������������������� �����$������..�/*��(����..�/��
�� (SNR) 
����� 
T2* �����$�$%&�
�'��&��	���&	 *�+,(%*��������
����	��+�"�	���� NSA 7 ��� 1, 2, 3, 4, 5, 6 "	� 
7 NSA

5������
�"���
�"����88�:���'"���88�:�����  (SNR) �� 5������
�"� T2* ,��
�!"��#�����������������,(�,(�,������	���-���� (Fe3+) ��"���� 0.2, 0.4, 0.6, 0.8, 1.0, 1.4, 1.7

��  2.0 ���������'"�����,���$#������)3%� ������������88�:��%&'(��� ���������)���%��)���"�  
NSA 7 �"��+� NSA ��"���� 1, 2, 3, 4, 5, 6 ��  7 -
(5�
����
�&�'������� 12  

(������� 12���
��"���
�"����88�:���'"���88�:����� (SNR) �� �"� T2* &��'"� ����
�,(�,(� ��%&'(��� ���������)���%��)���"� NSA 7 �"��
�

� 
��
NSA

�"���
�"��
��88�:
���'"�
��88�:
�����
(SNR) 

�"� T2* (�����������) �����
�������	���-���� (Fe3+) � 
��'"��1

0.2 mg/g 0.4 mg/g 0.6 mg/g 0.8 mg/g 1.0 mg/g 1.4 mg/g 1.7 mg/g 2.0 mg/g

1 1073.8 28.73 20.19 13.78 9.37 7.16 5.39 4.87 4.83 

2 1527.4 29.31 20.34 13.67 9.12 6.79 4.65 3.79 3.28 

3 1916.7 30.60 20.90 13.78 8.96 6.65 4.45 3.54 3.08 

4 2126.6 31.49 20.47 13.72 8.90 6.55 4.35 3.38 3.03 

5 2128.9 30.50 20.58 13.85 8.87 6.51 4.25 3.31 2.83 

6 2348.1 31.18 20.67 13.79 8.82 6.47 4.24 3.27 2.84 

7 2350.8 30.65 20.84 13.82 8.83 6.51 4.17 3.25 2.74 

5����6��7�����������2	� ��"�� �"���
�"����88�:���'"���88�:����� �����5�'"�
�"� T2* &��'"� � 
�������,(�,(�,������	���-���� (Fe3+) 
(�%��������� �	�"�����
�)�)������������ (Two-Way ANOVA) ���"� � 
�������,(�,(�,������	���-����
(Fe3+) ��5�'"��"� T2* �'�'"������%"������%�#���8����*�'����� 
�������
+������ 95 �)��	�.��'	 (P
= 0.000) �'"�"� T2* ���-
(������������88�:��� 7 �"���
�"����88�:���'"���88�:����� 
(SNR) -�"�'�'"������%"������%�#���8����*�'����� 
�������
+������ 95 �)��	�.��'	 (P = 0.656) 


��'������� 13
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(������� 13 ��
�5����6��7�����������2	� ��"�� �"���'���"��,����88�:'"���88�:�����
(SNR) ����"� T2*����� 
�� �����,(�,(�,������	���-���� (Fe3+) '"��1�

�

Adjusted R Squared = .997

��+������5���������� �	���"��"� T2* ���-
(������������88�:��� 7 �"���
�"����88�:
���'"���88�:����� (SNR) -�"�'�'"������%"������%�#���8����*�'���� (P = 0.656) �#�&�(-�"
�����*��� 
���"� ,���������'��	��
�"����88�:���'"���88�:����� �����
�"�� -�"�"�5�
�� ��'"��"� T2* �����
-
( 
(�%����
����"��0���%,���"� T2*��)/���%��" �
%��2��4
�
��	   

Source of 
variation 

Sum of 
squares

d.f. Mean 
squares

F-ratio P-value

Main effects 

SNR value 1.183 6 .197 .694 .656 

Concentration  Fe3+ 4562.910 7 651.844 2.294E3 .000 

Error 11.933 42 

Total(corrected) 11938.559 56 


